Mew.orpaxa.

7-11

. ,l.‘ZJM
-12

TpoTya|
at. a/

Mew.orpaxa.

0-3

458-463

14
420+454

1.4
393-417

370-390

-16

=22

331-366

1
B12-32

272-309

1.4
245-268

14
218-241

14
185-214

1.4
133-179

1.4
48 -129

14
8-44

-12

upmp

Tpomyapt cneba

JlopoxHbie 02paxgeHus

u Hanpabasiowue ycmpolcmba

TIOpOXHHE O2PaXgeHUs U

3—1a om ocebol

2—1 om ocebol
1-a om oceboi

pywawepd

Hanpabasiowue ycmpotcmba no

|_ocebBoul

soHxodob
BOHAIDWHOENAO |

neMeHmu gopoau b naaHe

8 npogosbHoM npoguie

SneMeHmb gopoau

_\N.m% dostr o8 00g +
v'Z'8 # s

12°€ WEeWOT ¥ ‘WO0T="T1 08V +

ITT (697 "
|\|>_>_oq X GO +

doalr o8 oGy +

b

WeWoT ¥ ‘WO0T=18Tr +
—

14

doat o8 Zgg +

[ < 0 km+ 500 m >

vz '8 ("
v'Z'8 #

LC°€

+ 469 L=100m, kK gomam
+ 460 k gomy

3.27

# 8.2.4
ﬂ 8.24

+ 389 rapax

—

{98€)

WEeWOT ¥ ‘W8T =" 899 +

e

(386)

+ 376 BO ABOp

. % & ort + 357 L=106M, K foMam
€G¢
eaes mw i - (349)
dogtr o8 6Zg +——
{9z¢) | (326)
WeWoIT ¥ ‘WGZT=1 0TS + "
_ —+ 300 k gomy

14

WOy =1 Awolr % 022 +

14

WLGL=1 AWOT 3 47 +

gt - 4t |

14

L€
— (602
3.27 T _
g q cz'g 16T +
8.2.3 t G 88T
/2°'€ dosrosa |g| +
3.27
€89

8ET
WTQT=1 Wewor'» Lg| +
|

14

(08)

600 ut| 8.2.1
=)o 2

doa og gy +——

14

1.4

14

1.4

1.4

—+ 295 Bo ABOp

=+ 269 Tpona
K yn. lkonbHas

(251)

»p

4250 vt

[+ 225 BO oBOp

(201}

[+ 170 k gomy L=50m

+127 yn. CagoBas

(120)

189

NV_w_.__‘_z;_.__‘__m_
O NOXXAPHbIA
@ nroe3n

14 800

1L

\|t.3

(14
3.2

|@ﬁ® o
/

3.27

E 8.2.1

-

+0 ®
seHauediHal] Uk

% 8.24

B

&

6.10.1

o
o
S0
—
N~
<
N~
[{e]
|
—N
(o]
<
(o))
n
<5
—L0
™
<
-
™
<
—
(o))
(92
N~
[o0]
S
R
<
™ ~
A
—AN
(o]
™
.
n
Yo
<0
—IN
o
™
R 220
N=g
<q 2ed
o~ 5 &
N ppanu
~ TmM
™
N
<o
—AN
N~
—
o)
(]
A
—o
N
-
(]
<
—
[ee]
N
M
oo
o
o
3 2 2 o
-3 P o © £
=] D [} @ (3]
I a3 o Q =
S <3 o =] o
- £ e [SE
S 5 5 5 3 S
< (-3 (-3 o> o
8 i | | 53| 5
[} - ~ w (83 &
88| &
x
© 3 e}
pMwowend ] S m
spHkodob 55| g
BDHADWHOENO | sT| &
LS L

yn. CagoBas




